) dN/dy

NSD

(1IN

Ratio to CMS

0.35

0.3

0.25

0.2

0.15

0.1

0.5

900 GeV pp NSD
[ r - rr Ty rrro ot T | | T
- ly|(KOS) (NSD, ly| < 2) ]
: m CMS _
— —&— Pythia 8.212 default ]
— —— Pythia 8.212 tune-A14-CTEQL1 N
— ------ Pythia 8.212 tune-A14-MSTW2008LO =
[ Pythia 8.212 tune-A14-NNPDF2.3LO —
[ --A-- Pythia 8.212 tune-CUETP8S1 _
N ,| | | | | | [ | | | | | | | [ | [ ]
:l T T T T | T T T T | T T T T | T T T T |:

| " 1 1 1 1 " | " 1 1 " 1 1 | 1 1 1 1 " | " 1 1 " 1 1 |
0 0.5 1 1.5 2

K2 1yl

Rivet 3.1.0, = 7.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


